o

@

Factoring Quadratics Name

oy

List the fiiotors of each number. ‘Then find the GCF (Greatest Common Facttr) of the tumbers.,

1.20,32 1,&,4,5,10,a0 ,2,4,92,16,33

20,4 137,41 [,a,34,6,% 14

1. 50,3 3,535,501 51,35

4,355 1,5,1,%S \);1,437,?)\%)18,5(9
5. 42,65

6. 36,54 e

7. 70,140 |

8, 40,72

Pind the GCF of the variables expressions,

9, xly, xy

10, 2xyz, 42°

11, 2y'z, 8y

12, 11ae, 33ab

13, 3x’y?, 15x%y

14, Q_r:'z, 2z

5. 100ebe, 200xy2

16, 2Tmer®, Smin® ,

l_f
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Factoring trinomials compietelyl (Putting it all together...)

Step 1) Look for a GCF. If there Is one, factor it out and leave it in the front of the solution,
Step 2) Look at the remaining polynomial and use notes to factor into two binomials.

7\

x*tbxtc ax®tbxtc axt -c
(no leading coefficient) (leading coefficient) (no middle term = difference of squares)

Step 3) Checkl

Example) 2x° —-10x +12 Step 1) Factor out a 6CF of 2.
2(x% -5x +6)
Step 2) Factor what Is left, keeping the 6CF In the front.
- 2(x-3)x-2)
Step 3) Check by FOILing and distributing in the GCF!

Factor the following completely. (Not every problem will have a 6CF.)
1, 3x%-12x 2. 6x2-5x-6 3, Bx% +20x-48
3x () (Bxsa)(ax-3)  A(aPhsx-2)
34 () O3 Q(2x-3)(4) @B

4. a®+a*-2a 5 x%-5x+6 | 6. 3x2 +18x +27
6(ad +o-3) ( X-3) (A3 3 x 4 bXt4)
6 ( a+a)at) 3(x43) 3
7. 5m3—45m 8. 4x*+4x -3 9, 5x? -18x -8

S5 (>4 ) ax-D (aF3) (o) UEH)

Sm(m+3) (M'5> T



Factor corﬁle‘rely, write prime If prime.

1. 2x2-8 aC)'(a"‘O |
2000

0, WE+BX+E
QUAHURAR
Q\UUTQLX‘\*‘)

3, 3n2+9n-30. '

%CY\&,\_ 3(\*\03 .
%(n+$\U\~9k>
4 6x2-26x~20"
9\(313\,_\3)(40)
AR+ )X =5)
5. 2%+ 12x-80
| &uaquo)
2\ (4o +1D XX 7D
5. B2+ 15t + 10
5({‘%3’:**3
SLAErX)CEF)
7. 8M-18 .
A(dn>=%)
2 (anFDD (312 )
8, 14 +7x-21
(2P +13)
T(ax+3Xx— 1)

Akl *
g:+Putting It

e,
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1 Together

- X

9, 4@+ 16x+16

10, 18x + 12+ 2%
113‘\’ \lX;‘ng =

1. 2x-2xy?
ax (1~ y*)

CaxC \«mc\’“ﬁ

12, 3 -27t

24 (£>9)

Ze (£ 43D
13. 2402-30a+9

3 qat-0a +2)

3(dau - 3)Ra-) )

14. 105+ 15x - 10

5 (ax*+2x -2)

Sax — | XX +~ )
15. 3x2-42¢X+ 147

3( 4P~ x4+ 41)

3 (x-1) (*-1)

16, 4x4 - 4x2

G (1)

G i L;(H)LX'O

g xS+ )L-\'f‘()
q OO )

W x by +a)
A XD

'""h N
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11, 3¢ -4x-32
(BXFE ~ =42

12, 4% -16%+16
(AKX ~S YEX — 3)

13, &HC+7%-15
(Y =3 X + 5)
4 ox2-11x-21 1%(6a=521o+;5§>
B YK — T PUSEIZN :
x> K L S-S -10" @D
5. A+ 2x-20 _ . 15, 11+ 122x + 11 :
Q{(Qxagyx-l(ﬂ) (WX + 1R+ 1)
2Ly IR~
S\é -5%-5x-12 16, 3¢ -20x-7
(2 +4 )X — 3D (23 +) X =1
7, P-26x-8 17, 2y*- 17y + 35
(AKX =D (a@—"ﬂﬁy S)
8. 12 -6x~-18 18, 4= 16x+ 15
b (Q\X&’K‘S-\ (&% -9)AX -3)
Qo (AxX 2N + D)
9._6x’—13x+6 19. 6x2 + 26X + 25
(3% — & Jax— 3 (3rS Y 2A+S )
10, 2% +9x+ 10 20, 7¢t-16C +9 )
(Bt SXX + Q) Ae-axe =17 B
ey ' CD-3732
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Factor completely:
1, # —13x +36
(-2 )

x 1 +12x—45

RHSIAB)

@(X—SL N0

7. 2x*+11x+15

(x+5UK+3)

9. 5x*+28x+15

(534 3X7+S)

11) 2x* ~7x-72

(ax+4 XX = 8

13,)5x +20x* —60x

5% (X344 A -1&)
5% ( X+o)A-])

Practice Problems

@ x*—=2x~48
-9 )

4, Jr2 6x+5
CR-2) 0k -3 )

(6) 4x* +24x~64
4 (43 bt~ 1b)
H(xA+ )X~ a)
8. 3x*-13x+14
(B -TXX = &)

| @ 2x*-3x-35

(@A TX—5)

12. 15x*-33x-36
(5>~ % -12)
2(5x 44 Xx~ 3)

‘12x +605° +272°

3x*(4x* e a0 x +4)
3y3(Ax+ 1 )aAx + 4 )



Factoring when the leading coefficient is not one
Name

Factor completely. If it can’t be factored write prime.

1. 26 +5t-3 @ 3x*-8x+5

(a.t'—n({: + 3D Gx-~sXx -1 )

@ 3¢ ~7p-6 r’+8r+3
(3p+a)e -3) (ar +\Y@V¥3)

@6x’+7x—10 (8)4y2 17y +15
(ex =5 Yx +3) CURIDCRED

@4:’-9”5 pYiML 25u’-20u+4

(Sw =2 J5u-2a )
4r* +16rs -10s" 10. 12p" ~32pg -5¢’ H;“\-Q.
g(ar=+8r°'533> i
A(ar - s)r+ 5s)
11, r* -16s" | 1251304
(r U r*eusd RS CET I D

Crays)(rds) (24 *) (O ETENETY



] 13. z4 _1022+9

(2:6!‘__‘ Xﬁa“a] j

15, 92 +6t+1

@6:’ +4t -2

6x’-7xy~3y’
(B4 4 Xax- 3@

14, x*-3x+2

CORED CIEEND

@ 27x' —12x

3% ( qu>-4)
3 (3X42) (3%

18. 1255° -8

Slkep

. 6.9’ + 5t -5

(s —58)$+E)



